DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

Name:
DIVISION
Time: Score: y—
s —5951.7 + (—9) = w0 =042+ 0.7 =
182) —7593 =~ 1 = w7 2.9052 = 0.03 =

13 2875.6 + 0.7 =

s —13056 -4 =

185) —9.924 +— 0.1 =
6 21.546 + (—0.3) =
#7)13.29 + (=0.1) =
188) 2379 — 0.5 =

189 —41.808 = 0.6 =
190) H328 + 1 =

vy —1221+1=
192)2993.5 +5 =

93 18.074 + (—0.07) =
01 7.396 + (—04) =

195) —236.48 +4 =

Mathematics: Division - Level 6 - Horizontal - Set 1
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123.42 + 0.06 =
930.5 = (—1) =
8672+ 1 =
309.3 = (—5) =
—7016.4 = 0.9 =
—11.86 = 0.05 =
—788.64 = 0.8 =
134.88 = (—6) =
115.2 = (—1) =
—257.55 + 3 =
251.52 + 3 =
—570.33 + 0.9 =

—542.29 + 0.07 =
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